[E]—PolyFit
PolyFit (x, y, n):= [m;:length(x) r:=[1..m] c:=[1..(n+1)] A:=matrix(m, n+1)+1]

el emepreem))

-1
T T
eval [A -A] -[A y]]
PolyVal (p, x):= 1ength(p) N
eval E pk-xk_1
k=1
1 0.9 n:=2
5 n [X::col(Data,l)Y::col(Data,z)]
Data := 37
417.4
5 30.5
6 48.3
3.83 {
C:=PolyFit (X, Y, n)=| —4.9604 48
2.0625
40
0.9321
32
2.1593
7.5114
PolyVal (C, X)= 24
olyval (¢, X) 16.9886
30.5907 16
48.3179
normi(Y_PolyVal (c, X)]=0,5114 0 I 3 T 5
PolyVal (C, x)
augment (X, PolyVal (C, X), "o")
augment (X, Y, "x")
f(x)=dx+1.cos(x—-0.3) n:=6 X:=[0,1..7] Y= £ (X)
normi(Y_PolyVal (PolyFit (x, Y, n), X)]:o,oog
Yy Yy
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11 -1
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X:=[0,0.5..7]
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